
A

1

0
0

1

0, 1

a b c

A {0, 1}
a A

b b
A b a c

A a− b− c− b− b

A

•

•

•

•

A



B {a, b}
s a1 b1

s

a1

a2

b1

b2

B
•

•

•

•

B



n C

0 1 2

Q Q
ε

Q∗ Q
{ , }∗ {ε, , , , , , , , ...}

Q Q∗

{ , } { , , , }

L w w ∈ L



{0, 1}
• {w | w }
• {w | w }
• {w | w w = x y x y }
• {w | w }
• {w | w }
• {w | w }



{ , , , }
{ , }

Problem 8:
Construct a DFA to check whether a number written in binary is 
divisible by 2.
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                f(n)   
 n 

• f(n) = n
• f(n) = n+ 1
• f(n) = 3n

• f(n) = n2

• f(n)
f(0) = 0 f(1) = 1 f(2) = 1

f(n) = f(n− 1) + f(n− 2) + f(n− 3) n ≥ 3
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B takes binary strings and accepts it  
. 0 and 0010010 

should also be accepted  Read the string
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